



PROPRIEDADES
IDENTIDADES
DEMONSTRAÇÃO

Propriedades/identidades

$$x.y = y.x \quad \text{Comutativa}$$

$$x+y = y+x$$

$$x.(y.z) = (x.y).z \quad \text{Associativa}$$

$$x+(y+z) = (x+y)+z$$

$$x.(y+z) = x.y+x.z \quad \text{Distributiva}$$

$$x+y.z = (x+y).(x+z)$$

$$x+x.y = x \quad \text{Absorção}$$

$$x.(x+y) = x$$

$$x.y+x.\bar{y} = x \quad \text{Combinação}$$

$$(x+y).(x+\bar{y}) = x$$

$$\overline{x.y} = \bar{x}+\bar{y} \rightarrow \text{Teorema de DeMorgan}$$

$$\overline{x+y} = \bar{x}.\bar{y}$$

$$x+\bar{x}.y = x+y \quad \text{Consenso}$$

$$x.(\bar{x}+y) = x.y$$

Comutativa $\Rightarrow x \cdot y = y \cdot x$

x	y	$x \cdot y$
0	0	0
0	1	0
1	0	0
1	1	1

y	x	$y \cdot x$
0	0	0
0	1	0
1	0	0
1	1	1

Comutativa $\Rightarrow x + y = y + x$

x	y	$x + y$
0	0	0
0	1	1
1	0	1
1	1	1

y	x	$y + x$
0	0	0
0	1	1
1	0	1
1	1	1

Associativa $\Rightarrow x \cdot (y \cdot z) = (x \cdot y) \cdot z$

x	y	z	$x \cdot (y \cdot z)$
0	0	0	0
0	0	1	0
0	1	0	0
0	1	1	0
1	0	0	0
1	0	1	0
1	1	0	0
1	1	1	1

x	y	z	$(x \cdot y) \cdot z$
0	0	0	0
0	0	1	0
0	1	0	0
0	1	1	0
1	0	0	0
1	0	1	0
1	1	0	0
1	1	1	1

Associativa $\Rightarrow x + (y + z) = (x + y) + z$

x	y	z	$x + (y + z)$
0	0	0	0
0	0	1	1
0	1	0	1
0	1	1	1
1	0	0	1
1	0	1	1
1	1	0	1
1	1	1	1

x	y	z	$(x + y) + z$
0	0	0	0
0	0	1	1
0	1	0	1
0	1	1	1
1	0	0	1
1	0	1	1
1	1	0	1
1	1	1	1

Distributiva $\Rightarrow x \cdot (y + z) = x \cdot y + x \cdot z$

x	y	z	$x \cdot (y + z)$
0	0	0	0
0	0	1	0
0	1	0	0
0	1	1	0
1	0	0	0
1	0	1	1
1	1	0	1
1	1	1	1

x	y	z	$x \cdot y + x \cdot z$
0	0	0	0
0	0	1	0
0	1	0	0
0	1	1	0
1	0	0	0
1	0	1	1
1	1	0	1
1	1	1	1

Distributiva $\Rightarrow x + (y \cdot z) = (x + y) \cdot (x + z)$

x	y	z	$x + (y \cdot z)$
0	0	0	0
0	0	1	0
0	1	0	0
0	1	1	1
1	0	0	1
1	0	1	1
1	1	0	1
1	1	1	1

x	y	z	$(x + y) \cdot (x + z)$
0	0	0	0
0	0	1	0
0	1	0	0
0	1	1	1
1	0	0	1
1	0	1	1
1	1	0	1
1	1	1	1

Absorção $\Rightarrow x + (x \cdot y) = x$

x	y	$x + (x \cdot y)$
0	0	0
0	1	0
1	0	1
1	1	1

Absorção $\Rightarrow x \cdot (x + y) = x$

x	y	$x \cdot (x + y)$
0	0	0
0	1	0
1	0	1
1	1	1

Combinação $\Rightarrow x \cdot y + x \cdot \sim y = x$

x	y	$x \cdot y$	$\sim y$	$x \cdot \sim y$	$x \cdot y + x \cdot \sim y$
0	0	0	1	0	0
0	1	0	0	0	0
1	0	0	1	1	1
1	1	1	0	0	1

Combinação $\Rightarrow (x + y) \cdot (x + \sim y) = x$

x	y	$(x + y)$	$\sim y$	$(x + \sim y)$	$(x + y) \cdot (x + \sim y)$
0	0	0	1	1	0
0	1	1	0	0	0
1	0	1	1	1	1
1	1	1	0	1	1

Teorema de DeMorgan $\Rightarrow \sim(x \cdot y) = (\sim x + \sim y)$

x	y	$\sim x$	$\sim y$	$x \cdot y$	$\sim(x \cdot y)$	$\sim x + \sim y$	$\sim(x \cdot y) = \sim x + \sim y$
0	0	1	1	0	1	1	1 = 1
0	1	1	0	0	1	1	1 = 1
1	0	0	1	0	1	1	1 = 1
1	1	0	0	1	0	0	0 = 0

Teorema de DeMorgan $\Rightarrow \sim(x + y) = \sim x \cdot \sim y$

x	y	$\sim(x + y) = \sim x \cdot \sim y$
0	0	1 = 1
0	1	0 = 0
1	0	0 = 0
1	1	0 = 0

$$\text{Consenso} \Rightarrow x + (\sim x) \cdot y = x + y$$

x	y	$\sim x$	$(\sim x) \cdot y$	$x + (\sim x) \cdot y$	$x + y$
0	0	1	0	0	0
0	1	1	1	1	1
1	0	0	0	1	1
1	1	0	0	1	1

$$\text{Consenso} \Rightarrow x \cdot (\sim x + y) = x \cdot y$$

x	y	$x \cdot (\sim x + y)$	$x \cdot y$
0	0	0	0
0	1	0	0
1	0	0	0
1	1	1	1